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Note: You hfwc four choi. »s for each objective type question as A, B, C and D. The choice which
) you think is correct, fill that bubble in front of that question number, on bubble sheet. Use

marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero
mark in that question.
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In micro economics, the behavior of individual components and elements of an economy is studied.
For example, determining the price of a single commod
observation of the behayvior of a firm. : :

Explain the concc_pt of Positive Science. ' -U'/(&U:LL:"‘Z.:J.:;V (i'i)
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It refers to the knowledge in which the situations and eve
universe are observed and analyzed and described as they
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| Define Utility. -l (i)
g JLE’J/J(}’#(}?J&-WJ&,JG& l.l:’..uj;{nblf.:,;&J/,rdi’Jz_ﬁ/‘;’f‘_ﬁ'idU'J:C‘-U; )4
{ Y Fok .
| ‘ -aﬂ:(_}?(fégj:ﬁ)’(ﬁ/‘ﬂu_—-&{d?
| The quality attribute or power of fulfilling human desire in an object is called utility. For example,
water quenches thirst, bread quenches hunger quality, light in bulb and writing quality in pen etc,
i [)crine_Law of Supply. -4"'-"-5’/‘." J»Wu)l? (v)
-‘f—d%”lf"’l{z-”lfé‘: JJ';’|+- d‘i_m‘/.k/JJ’?Z.(gmk&f(,(c‘_(,(’;;'q_“/u;&uﬁa Ulpél_.ﬁ )
- If other circumstances remain the same and the price of a commodity increases, its supply increases
and when its price decreases, the supply decreases. )
Explain the concept of Arc elasticity of demand. oL BT i)
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If there is a significant change in price and demand due to it there is a significant change in demand,

then this type of change in demand is called arc elasticity of demand.
Formula: L0 0 .
E = q9-9 p~-p
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Define Equilibrium price. , -g{.e/&;,guﬂ? (vii)
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The price at which both demand and supply of a commodity become equal is called the equilibrium

~ price. . . 2
Explain the concept of Marginal utility. -é&’&:&r"ﬁuulf‘{ (viii
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The rate of change in total utility from the consumption of a surplus is called marginal utility.
Change to total Utility (} & 206}
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= Marginal Utility 5,y
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Define Income clasticity of demand. ‘ -sf:’_g}J_.gd;TJJ (ix)
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The change in quantity demanded due to change in income is called the income elasticity.
Percentage change in demand§ v 2

— = Income elasticity §J.7
Percentage change in Income ¢ x40z ds? e

Attempt any six parts. 6x2=12 -gé}/.:gtz&tmé:.d[ ;';QJI,{
What is meant by Explicit costs? Y‘LJ'/L/(LJJWCULC-/‘ (i)
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Payments made by the firm as compensation for various materials and resources purchased from

others are called explicit cost. It includes wages of workers, interest on capital, rent of building,

payment of cost of raw materials and fuel etc. :
What is meant by Total revenue of firm? ?c"_ﬂ/l_/c_df;gf(f(/ (ii)
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The amount earned by a firm by selling certain quantity of a commodity, is called total revenue. For
example, if the price of cloth is Rs. 10 per meter and a firm sells 100 meters of cloth, it will get Rs.

1000, this amount will be called total rcvcnuc‘-d):l(f‘ﬂpédﬂﬁﬂdﬂbﬂﬁz:é.t‘ioJ‘; -

Draw average revenue and marginal revenue curves under psu:fect competition.
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st=darseint’ ynder perfect competition both the average revenue and marginal
revenue of the firm are equal so they are represented by a single letter

ST . parallel to the letter OX.
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What is mcm:! by Average product? ‘ " 45 byl (iV)
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The average production per unit of output of a factor is called average production. To fijng 3\,;;; :
output, total output is divided hS/ the units of the factor. ‘ _ &
Total production sl Jf

Units of factors uLfb’iJJ(c . . .
Describe the definition of Law of diminishing returns. -L[f@kh‘-’/" g "gkm Ol ¥
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If the units of the variable factors are increased with the specific factor of production in the

of production, then the increase in total production is less than the units..As a result of w
marginal product kee

diminishing retumns, v P
What is meant by super normal or abnormal profit of firm? ?‘[—”/g%d'?d’f,/féff’ (vi)
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If the profit of the firm is more than the normal profit then the profit is called abnormal profit i .
price is more than average cost. !

What is meant by Monopoly? P ?,4--"/Er*’—’—(51|:u(gl (vii)
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A monopoly is a market condition when a good is produced by a single firm and there are close

substitutes for that good else where in the market not available. For example in Pakistan WAPDA
has monopoly in power generation and supply. ‘

Write four assumptions of Marginal productivity theory. -g{{i&:/":l'vgdm’gﬁﬁ (vii)
-c"_l}l_au,«,c.;/»;@’afb/l(fcféb -3 -gjbg{»bdﬁm&yg'l: 2 -uj;%d‘%»";}‘fyﬁlt -1 R
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2. The supply of factors is completely elastic.

= Average production slsli beyl

PTOCcSS

thh thg
ps fallings, then this trend of falling marginal product is called the law of

1. The factor are completely transferable.
3. The units of factors can be interchangeable.
4. All units of each factor are identical in terms of

production efficiency.
What is meant by Derived demand?
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ouse, in this example, the demand for housing
is direct demand while for bricks, cement, lead or gravel etc js called derivative demand.
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If capital loss and depreciation expenses (depreciation allowance) are removed from the gross
national product, the net national product is obtained ie, :

Net National Product = Gross National Product - De
What is meant by Depreciation allowance?

Attempt any six parts. 6x2=12
Describe the meaning of Net National Product.
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Expenses incurred on repairs of machinery, tools ang e
allowance. ;
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. write any four functions of money. _J,Cf‘ﬂ),bﬁ,; (iii)
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- {. Common measure of value 2. Standard of future paymen-:s ' .

3, So.urcc of government payments and receipts 4. Medium of exchange

pescribe Quantity theory of Money. _Jf_yj{f,j,lﬁ,}; (iv)
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A shange in e quantity of money (Through a change in prices) results in an inversely proportional
- change '“'the quantity of money leads to a proportional decrease in the value of money, while every

decrease in the quantity of money leads to a proportional increase in the value of 'money, other

things being equal. '

~ What is meant by Trade cycle? : ?ngfb"c,)gBJw )
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Commercial cycle good business conditions, such as rising prices and falling unemployment, and
' bad business condition, such as falling prices and unemployment corisist of an increase rate.
' Describe the concept of Comparative cost theory. ' -gfugrx“ VJJW&@,}" (vi)
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It costs of labor are producing two goods in a country are less and more in other country, the first
country will produce that good which gives its comparative more profit and second country will
produce that good which has comparative less disadvantage.
What is meant by Balance trade? . _ ?‘L.ﬁflfc,azb"'uﬂ? (vii)
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The calculation of the value of a country's annual tangible exports and the value of its tangible

imports is called the balance of trade. - "
Write four basic principles of taxation. -éf{fdf!d;glgégg (viii)
GLdre -4 el 3 ebde 2 FUA L

© 2. Canon of equality 3. Canon of sufficiency 4. Canon of simplicity
Describe the concept of Zakat. -tf /uyrx“ 115 (ix)
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P R St o
Muslim which he pays out of his wealth as a religious
ough the intermediary of the Islamic government or

1. Canon of certainty

Zakat refers to the obligatory obligations of a
duty at a fixed rate to the beneficiaries thr

directly. (r}),J?)
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What is meant by demand? Explain the causes of changes in demand.
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marginal utility with the help of schedule and

Note: Attempt any three questions.

Explain the law of diminishing
diagram. .
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ational income in detail. :
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economy. Explain it.

Describe the characteristics of perfec

Describe two methods of measurement of N
-q/yl}u-g{fz_n_;/.:,
Write down the disadvantages of international trade on any

—
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